Varied Fluency
Step 8: Two-Step Equations

National Curriculum Obijectives:

Mathematics Year 6: (6A1) Express missing number problems algebraically

Differentiation:

Developing Solve two-step equations using all 4 operations with whole numbers. Bar

models provided for support.
Solve two-step equations using all 4 operations with whole numbers, decimals
and fractions. Some bar models provided for support.
Solve two-step equations using all 4 operations with whole numbers,
decimals, fractions and negative numbers.
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Two-Step Equations

Two-Step Equations

1a. Are the following statements true or
false?

A.lfX=4,then2x+1=9

1b. Are the following statements true or
false?

A.lfX=3,then4x+3=15

9 15
X X 1 X X X X 3
B.Ify=5,then4y +1=20 B.Ify=7,then2y-6=14
20 14
y y y y 1 y y -6

~ .

~ .

2a. What is the value of c?
5c-11=39

2b. What is the value of c?
7c-9=33

39

33

c C c C C -11

C

& ) [ [ .

cC | C c | C|] C | C
@» [ ([ () .

3a. Match each equation to the bar
model to find the value of a.

3b. Match each equation to the bar
model to find the value of a.

?

| sa+2=32 55553

?

| 6a-9=15 a]4]alal4aa]-9

?

| 23=3+4a 6166662

{ N ?
87924 ) [2]-a[-a[-a[-4[-4
{ N ?
‘2a+7—231 3 | 3 ] 3 ] -5
{ N ?
l2—22-5a4 8 | 8 | 7

e .

X .

4a. Fill in the missing operations to show
how to solve the equation below.

22
IX+4=22 X X X 4
l ?
18
3X=18 ” X ”
l ?
6
X=6

v .

4b. Fill in the missing operations to show
how to solve the equation below.

28

5X-7=28 X | x| x| x| x -7
| B
5x =35 X | X 3x5 X | X
] -
xX=7 4

X

& .
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Two-Step Equations

Two-Step Equations

5a. Are the following statements true or
false?

A.lf X=6,then3Xx-2=16

5b. Are the following statements true or
false?

A.lfX=6,then0.5x+2=5

16 5
X X X -2 0.5X 2
B.Ify=4,then2y+5=12 B.Ify=5, then4y -y =25
12 25
y y y y y y y -y
VF VF
é6a. What is the value of C? é6b. What is the value of C?
11C-16 =116 10c + 13 =103
116 103
c|C c C Cr1é c|C C C 13

BRCIC

VF

c|C c|C c|C
][]

VF

7a. Match each equation to the value of
a.

|

9a+3 =12

0.5

|

— —
a+11=14 4

|

9=5+8a

12

|

VF

7b. Match each equation to the value of
a.

|

3a+2=12 a=10

|

Sa+11=16 a=0.25

|

8=7+4a

8

|

VF

8a. Fill in the missing operations to show
how to solve the equation below.

5x-7=18
| B
5 = 25
| B
X=5

VF

8b. Fill in the missing operations to show
how to solve the equation below.

5X +4 =22

X=3

VF
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Two-Step Equations

Two-Step Equations

9a. Are the following statements true or
false?

A. IfX=12, then 0.75x =9

B. Ify=7then3y+y=5

C. lfz=4,then7-2=-1

VF

9b. Are the following statements true or
false?

A. Ifx=8,then0.75x+7 =13

B. Ify=11,thendyx2=80

C. fz=7,then7-22=7

VF

10a. What is the value of c?

[lc+48=60]

2] (=] (o]

VF

10b. What is the value of c?

[lc+91 =1oo]

10

VF

11a. Match each equation to the value of
a.

|

I
NN

16a +24 =28 a

|

|_.

9a+17=21.5 a

N

|

0.5

-5 =6a-29 a

|

VF

11b. Match each equation to the value of
a.

20a + 36 = 41 a=0.5

7a+34=37.5 a=5

-4=6a-34

VF

12a. Fill in the missing operations to show
how to solve the equation below.

28X + 6.3=10.3
l ?
28X =4

| B

~|-

VF

12b. Fill in the missing operations to show
how to solve the equation below.

45X + 9.6 = 14.6
l ?
45x =5

| BE

|~

VF
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Varied Fluency

Two-Step Equations

Developing

1a. True; False, 4y + 1 = 21

2a.10

?

30.[5a+2=32

5\5[5|5|3

)

?

[6a—9=15J

4[afafafafa]-9

?

[23=3+4a

5]5|5]5[5[2

4a.-4; + 3

Expected

5a. True; False, 2y + 5 =13

6a. 12
7a. , a+3=12

+a+11=14

9=5+8a
8a.+7, =5

Greater Depth

9a. True; False, 3y +y = 3; False, 7-2=3

10a. 60

11a.| 1éa +24 =28

fa+17 =215

-5 =éa-29

12a.-6.3, = 28
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Two-Step Equations

Developing
1b. True; False, 2y -6 =8

2b. 6

?

3b.[ 3a-5=4

22|-4\—4]-4|-4|—4

?

[2a+7=23 3 | 3 I 3 |_5

[2=22—5a

4b. +7; =5

Expected
5b. True; False, 4y -y = 15

6b. 9
7b. r 3a+2=12

S a+11=16

8=7+4a
8b.-4;+ 6

Greater Depth

9b. True; False, 4y x 2 = 88; False, 7 -2z = -7

10b. 90
11b. | 20a + 36 = 41

7a+34=37.5

' -4 =éa-34
12b. - 9.6, + 45
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